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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-16_0
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P3-16

BfiE) | FEBIETK (D) | E=E (EH/E) | XK R

07:15 93 70.0 Ag| 1Ri%e07:15 KENEF (KAEES)
08:15 93 70.0 Be| {Ri%@08:15 RIMIEF (KRAEZRER)
09:15 93 70.0 B5| 1Ri%e09:15 KHIERF (RAEHS)
10:15 93 70.0 Ag| 1Ri%e10:15 KENEF (KRAEES)
11:15 93 70.0 Be| (BRige11:15 RIEF (RAEZRSE)
12:15 93 70.0 R5| (Rige12:15 RHEF (RAEHS)
14:00 93 70.0 Rg| 1Ri%e14:00 KENEF (CKRBAEES)
23t| 651.0 (%) 490.0 32 HKEC: 2080.0, PH: 6.0

large discrepency for begining water status (175:297.0), set to 199.0 ml.
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